Math 2 Name: \Lc\{
Unit 4A Day 3 Notes - Mid - Segment of a Triangle Date:
Mid - Segment: the segment joining the midpoints of two sides of the triangle.

Mid - Segment Theorem: the segment connecting the midpoints of two sides of a triangle
is parallel to the third side and is half as long as the third side.
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Examples Cont.:

Use the given figure to answer each of the following:
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1. Solve for x given the DE = gx + 3 and

AB = 6x + 4. Mid- S egment
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<9 Solve for x given the DE = %x + 2 and

AB=3x + 6.

\.’9 Solve for x given the DE = 5x + 2 and
AB = 6x + 4.

4.)Solve for x given the DE = 4x + 2 and
AB=6x + 8.




